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Time: 3 hrs. o ® Max. Marks:100
1 (06 Marks)
(07 Marks)
(07 Marks)
2 Solve (D* +4D3 4 o (06 Marks)
Solve : d—y + 4y - X Sin X + sin 2x . (07 Marks)
. Solve byf> thé'ﬂ*i“’ﬁethod of undetermined coefficients (D 2D)y e” sin x. (07 Marks)
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3 (06 Marks)
(07 Marks)
(07 Marks)
4 (06 Marks)
(07 Marks)
(07 Marks)
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S Solve : = sin x sin y for whlch =—=-2siny when x =0 and z = 0 when y is an odd
multiple of —2- ;o (06 Marks)

262

Obtain the solution 6f one dimensional heat equation %tu_ =C by the method of

separation of varla]gles (07 Marks)

: @fﬁg “ixj_y dzdydx
0@% 0 0 \/1

(07 Marks)
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6 a. Form the partial differential equation by eliminating f tﬁe arbltrary function form :
Z=y ) Fxey) {~ s%* (06 Marks)
2 u"@' w
b. Solve a—z— —a’z given that when x =0, &, -wa‘? in y and R =0, (07 Marks)
ox ox &%y oy

;Zﬁ)? dy and hence evaluaté f??e same. (07 Marks)
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c. Change the order of integration in I
O i

X
P @3 : ‘%f Module-4 .
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7 a. Find the area of the ellipse ~—~+ g— =1, by double mteg%atlon (06 Marks)
‘%? i%‘
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b. Prove that p(m,n) = F(%)E(n) : &@: ,;g%f (07 Marks)
c. Express the Vectoang' 2xj +yk in cylindrical co@rdmates ~ (07 Marks)
% - pa——
8 a. Find the volume generated by the revokiﬁofﬁ of the Cardioide t = a(1 + cos 0) about the
initial 1me“5& %:ﬁ’“ = (06 Marks)
2 - e
b. Prov%ﬁhat Jsin 0 do x = N (07 Marks)
I [ ﬁl S
¢. Prove that Spherlcal polar coordmate system is orth%“gonal %%%* (07 Marks)
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92 (06 Marks)
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b. Draw the graph“”of the perlodlc fun@“{%ﬂ )= A Fatat )
O mAtE <t <2m
Whem‘Wﬁ 2m) = f{t) find L%f(k)w} %{m (07 Marks)
C. Usmg convolutlon theore;%*}g evaluate o 2 } (07 Marks)
: V&;a& »«*-' fx%&‘»‘ 1 @/’ & a )
&y "4 <
10 a. Find: L{(\/— & I J.j - Wgw (06 Marks)
% e
sint, 0 <ts
b. Express f (t)
cost, «t@?
interms of unit step funﬁtmﬁ)n and hence find L {f(t)}. . (07 Marks)
c. Solve: y"+ 2y y & 2y 0, using Laplace transforming with y(0)=y'(0)=0, y'(0)=6.
(07 Marks)
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